Exercise Set 1.1
1. -6
7.20
13. -1
19. -6
25.16
31.-8
37.54
43,225
49.10
55.18

Exercise Set 1.2

1.5-7

7. 2217

13. GCF:2-3*,LCM :2*-3*

19. GCF :3,LCM :36

25. GFC:10,LCM :300

31. GCF :a’b,LCM :a’b’c’

37. GCF :3w,LCM :459x*w’

43. GCF :6¢°,LCM :504b*c°d’

Exercise Set 1.3
2
5

3%.5
C 247

13,2
4

19. 4i

9

25. IZI,LCDQ2 3

31272 10D 6a?
6a

37. 2L

30

Transition to College Mathematics

3.23
9.75

15.
21.
27.
33.
39.
45.
51.
57.

3
81
-72
5

5
34
-9
-8

3.2%:11
9.2%.7

15.
21.

27.
33.
39.

[98)

e

15.

3
21.
27.
33.

39.

®'|:z W | N
eS| E

GCF :3-7,LCM :3*-5-7%-13
GCF :2,LCM :72

GCF :15,LCM :225

GCF :3x*,LCM :30x’

GCF : 4ab*,LCM :208a°b’

17

1—7,LCD:12

1—,LCD:100
S5a+2b

,LCD:10

17
24

Answers to odd-numbered exercises

5.5

11.
17.
23.
29.
35.
41.
47.
53.

75

125
25
-16
75

16

5.2:37

11.
17.
23.

29.
35.
41.

2°.3%.17

GCF:2*-5,LCM :2*-5° 17
GCF :3,LCM :30

GCF :ab’,LCM : a*b’

GCF :a’b*,LCM :120a"b’
GCF :4xy, LCM :120x*y*w’

2

5.
3%.5

11.

17.

23.

29.

35.

41.

2y

7x?

33
4

—i,LCD:6
3

2a+3b

a
Sx-Ty

,LCD :ab

,LCD:35

51
5



43. 13 45. 2 47. 26
5 5 5
49. 4 51. 4 53. B3
9 9
55. 3 57. _4 59. _27
4 7 64
61. _L 63. Ll 65.2
18 25
67. ’ 69. _27 71.-7
12 8
Exercise Set 1.4
1.2.8,2.76,2.764 3.37.5,37.47, 37.469 5. %
7.38 9.0.375 11. 0.83
25
13. 5% 15. 140% 17.0.05
19. 0.0045 21. 400 23.40.3125
25.8.75% 27. 1500
Exercise Set 1.5
1.7 3.-3 5.7
7.6
9, «—4+—F—+—+—+— - +—— 0+ 5—2|=3
-0 -9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7 8 9 10
nH.«—+———+——+—+ @+ @ +——+—+——+—+—+—+—+—+—+—+— >—5—(—2)|=3
-0 -9 8 -7 -6 -5 -4 -3 -2 -l 0 1 2 3 4 5 6 7 8 0
[30¢- v oo e >3—7|=4
-0 -9 8 -7 -6 5 -4 3 2 -1 0 1 2 3 4 5 6 7 8 9 10
15, «—+—+— T S T AR R 2—(—7)|=9
-0 9 8 -7 -6 -5 -4 -3 -2 -l 0 1 2 3 4 5 6 7 8 9 10
172163 1523 o 5__10.3_ 9 3 5
5 408 405 8 6 12" 4 12 4 6
3 61531 s, 1T__SL 4 17
15 3006 3015 6 6 18 18 6
25. l>0.33 217. 3i>2 29. —li<—§
3 5 5 16 4
31. 4.375>4.357 33. —§<—0.666 35. 0.0357>0.00753
37. !

36



Exercise Set 1.6
1. 6.5%
7. (a) 12,568.5 (b) 0.9975x

13. §1,000

19. (a) $560 (b) 140x
25. (a) 27.1 (b) 221 lbs.
31. 4.5 ft./sec.

37.62.5 cm.

43. 7.2 gal.

3.25.93%
9.0.75x, 0.795x

15. ﬁx
54

21. (a) $160 (b) 25n-15
27. 18 min. 59 sec.
33.49.7 m.p.h.

39. 200,000 cm.

5. (a) $79.35 (b) 1.058x
11. (a) $96,750 (b) 2.15x

17. (a) $638 (b) A=9h+0.05S

23. 7.8 miles
29.5.11 g.
35. 5 min.
41. 139 in.



Exercise Set 2.1

1. 9,600 cm®

7.(a) 36 cm (b) 4n+8cm

3.9 feet 5. 48 feet
9. (a) 42 feet (b) 61+ 6 feet 11. (a) 12.25 m* (b) %bz m’

13. (a) 13.7 cm? (b) s* —%ﬁszcmz 15. (a) 46 m? (b) 42 m (c) $552 17. (a) 12+%7z ft* (b) 11+27 ft

19. (a) x* +15x (b) 4x+30

Exercise Set 2.2

1. (2) (b)
(-2,5) 5
®
3
2_
3 23 ) 1
2_ 0 !
2 1 o 1 2 3 4 5
|
i a
D i s 5 & e 8 o2 3
distance: 5 distance: 8
() (d)
.(-3.3) .( ) 5
4
3
2
1 .
.('9‘1) 1 .(5.1)
o ]
— —
,
distance: 6 distance: 15



(e) ®

2
1

;
o

3 2 1 o 1 2 3
n 1,00 o
_Q T T T =
5 -4 3 2 A

2

-1
-3

-2
-QT

distance: 6 distance: 4

(2 (h)

2_
1_
z| .(2.l'5.2) .(813.2)
o
1] ) s "1 o e
(-2/3-1) (714,-1)
o] ® '1_ ™
i i " D i E] Ta
1 2]
) 34 ) 29
distance: — distance: —
15 12
(1)
2_
1 (3,516)
[ ]
2]
2 1 0 1 "2 3 4 5
B
| L35
-3 |
65

distance: —



¢7,-5)

Area:12 unitsz, Perimeter: 14 units

(3.-5

Area: 7 units’

Exercise Set 2.3

1. 2.4 feet
7. 1050 feet
13. 4.7 feet

3. 542 ~7.1in
9. $305.47

Area: 6.257 ~19.6 unitsz, Perimeter: 57 ~15.7 units

9.(a) P(-2,-2),0(5,-2) (b) P(-2,-1),0(5,-1)

5. 24 feet
11. 32.5 miles



Exercise Set 3.1

1. —8x"
y229

5
X

13. -

8x’

7.

|
(@)
i
=
=)

19.

LS}

-

25.

(=)}

w O
Q\l'\<

31.

1N}
w

37.

n|— N

43.

|
)
)

Exercise Set 3.2

1. 2x*\3
7. 2x2y8\/5

13. 6x7y*y2xy

19. x* 2\/g
Y 5

25. 384

Exercise Set 3.3

1. 2x33/x_2
3x63/§

9

y

13. 3x*

19. 2

7.

25.2

31. 42

3. 94°p*c"°

45. 63

3. 9x*x
6. 25

X

3yt |3

15, —.|—

2z \ 2z

21. 1243

3. 2x%y3/5)°

v
15. Y

21. -3
27. =2
33. —

23.

29.

35. —

41.

5. 22°6z
4x~2x

3y

17. 3x°x
23. 9877

11.

236

11. 5"
17. 2
3

23. ——
29.4
35.243



37. =



Exercise Set 4.1
1. -3x+2
7. 6x° —22x

13. 5x* +7x—4

19. —x

Exercise Set 4.2

1. 3x® —6x° —3x° +15x
7. 6x* +32x+10

13. x* —4x*y’ +4)°

19. X’ +6x* +12x+8
25. 8x° —12x% +6x—1

Exercise Set 4.3
1. 4x(x2+2)
7.15¢ (3z2 —2)
13. 3ab(3a+2b2 +5a3b)
19. (x+3)(x—l)
5. (x=7y)(x~-y)
31. (¢+8)(¢-5)

(6x+1)(x-2)

43. (Sx 8)(x 3)

49. (3t-2)(¢+5)

55. (2x-3)(3x+4)

61. (2x 3y)(x+2y)

67. (x-5)(x-3)
a2b3(a+b)(a b)

79. x*y (x+3y)(x—3y)

85. (x+2)(x*+3)

91. (35" +7)(3x* - 7)

(8]
~

J
R

3. 7x*—12x-4
9. x> +8x+29
15. ix

5

), 195
12

3. 2a*-6a’b-8a’h’
9.5y —19y+12

15. 1-6x+9x°

21. x° +4x3y5 +4y10

3. 8% (3-x%)

9. 2y(x+1)(3y+4)

15. 4(2x2—5x+8)

xX— 3)(x+2)

a+4b
)

L(
-
-
-
-
-
-
- (2a

69. (x+3)(x—3)

75. 3x(2x+1)(x+7)

. (2x—3y)(3x+4y)

8 (x2 +y2)(x+y)(x—y)
93. (x—3)(x+2)(x—2)

(o2e]
~N =

5. x> +2x* +3x—1
11, x* -3 +4x+2

17.§z
4
23.2962—1)6—L
5 8 12
5.152 +2t-8

11. 9x* —12x+4
17. y*=y* =2y +8
23. X +3x* +3x+1

5. a’b(3-7ab’)

11. (a—1)(4a-7)

17. 3(x+2)(8x" +10x+5)
23. x—8)(x+3)

29. (35 +4t)(3s - 4t)

35.
41.
47.
53.
59.
65. 6x(2x"+3)

W

A~ N~~~
[®))
=
|
—_
~
—~~
N
=
+
(98]
~

)
3a-38)
)

89. (x—2)(x+5)(2x+3)

95. 5(x2 +4y2)(x+2y)(x—2y)



Exercise Set 5.1

3
1. 94,22
a

3

7.3ﬁ
4x°z

2
13. 1+b

19. x-2

x+1

25.
3(x+2)

31.

2x—1

Exercise Set 5.2

5
X

1. —
2y3
7. —(x+3)
Xty
5x

13.

Exercise Set 5.3

1. x4y7z
7. (x+3)(x+5)(x_5)

3(x—1) Tx

13. ., .
x(x=1)" x(x-1)

17.

23.

6st+4rt+3rs

29, —————,12rst

12rst
1

5—x

35.

75_x

3(x—1) 5 (x+3)
3 -1 s .
D )y
o 1. x*i
! 1+2x
2 2 2
15, 2225 17. 1 -1
xyz
21, X+2 23, X1
x+1 )
)7 Y74 29, XY
y+2 Ty
33, X2 35 (1#3)(1=6)
3(x-2) (2¢+3)(¢+1)
y
3.6 -
xZ
> x+2
> 4= 1.
4(x—3) -
15. x(x+2) 17 2a+3b
a+b
3.36(x-1) 5. (x+3)(x+2)
A ﬂ 11 3x3 2y2
. 6x2’6x2 . 36x5y3 ,36x5y3
15 x(x+2) (x+5)(x+3)
. (x+1)(x+2)(x+3)’(x+1)(x+2)(x+3)
19. 1% 1 21 15
" St
s, 20443) oy 2 556,
x(x+2) —
2
31. x(x+6)’x+7 33. 2 +f+1’a3
x+7 ;
37. x-9

(X—Z)(X—3)(x+5)’(x_z)(x—3)(x+5)



39.

X +x+4
(x+1)"(x-1)

,(x+1)2 (x—l)



Exercise Set 6.1

1. x=6 3.x=% 5.x=9
7. x=-12 9. x=3 11. x=0
13.)c:m 15. x=60 17.x:£
7 3
2
19. x=-37 21. x=-7 23, x=——
17
25. x=200 27. x=27 29. x:?
31. x:H 33. xzﬂ 35.27 in.
3 11
84 .
37. — ~26.7in. 39.(a) 59° F (b) 14° F
V4
Exercise Set 6.2
I y=—2x42 3. y=-2x+< 5.4=2
AR TR 4%
7. F=2L0-15 9. x=—" 1. y=273%
3 a -b d-c
13.x=a+§y—§b 15.T:2R+12 17.x=—§y+§
3 3 4 9 3
19. x=q-3-2_2 21 w22 23 =
b b 2 27
25, c=2p 190 aw="1-"1, 29. ="
9 9 4 4 L
Exercise Set 6.3
5 5 P-2]
1. A=x"+2x,P=4x+4 3. A=2x"+3x,P=6x+6 5. W:T
24
7. h=7cm. 9.(a) S=3x+6(b) S=3x 11. 0.07x
13. 3xh—10x dollars 15. (a) 0.035x (b) 1.035x 17. (a) 3x (b) 0.16x
19. (a) 4x+3 (b) 50x+15cents 21. 0.35x+0.75y pounds 23. P: $405,000, VP: $225,000
25. Votto: 29, Bruce: 32 27.94 29.315 ft?
31. 5,000 33.9 35.$2,250 and $4,750
37.$1: 15, $5: 3, $10: 6, $20: 6 39. R: 3 ft/sec, J: 5 ft/sec 41. 4.2 miles
43. M: $52,500; C: $63,000; L: $68,250 45.25 mL.

47. 10 pounds 49. C: 22 hrs., A: 27 hrs.



Exercise Set 6.4

1%
Lx26  [6%) = : 32 (E’“’) ) : R
4 4 - -
5 xSi (—oo,i} Ir 7. xsz (—oo,z} - J -
5 5|~~~ 3 3 -
EE]
9. x<2 (—0,2) = . - 11. x<49  (-0,49) = -

14

13. x<57  (-0,5.7) = i - 15 x>0 (E,oo) ;
3 3 - =

21l 1%
17.x>? (%,ooj 7 19. x>-130 [-130,0) = . -

21 x< % (—oo,@} 3



iz

(4,5}
(4.5
[4,4)
(4,3}
(4,2}

=

-l

Exercise Set 7.1

4

-6




X |y
0] 1
8] 3
412
410
8 -1 \
| o : 1 . T
N (8, -1)
13. Slope: 15. Slope: —1
. Slope: 2 - Slope: 3
1
17. No Slope 19. Slope: 5
&4
{2, 3)
3
t{q‘ D,
1.2, |
(-1, 1), | : i
-1, 0)g
2 0 1
_'I..




21. No Slope 23. Slope: 0

]
2 u:]' “
(-3, 0)
i 4 -3 2
g {3, 0y
1 0 i 1 H
14
(3 -Z
2 .
4
(3 -5
5 .
Y
1
25. Slope: ——
4
i L
v\\-m\“ N
"—\_\_\_\_\_\_
I
24 "‘L______
-—_\__\_\__
B S -
31 -.—
3 1
27. — 29. — 31.-3
2 2

Exercise Set 7.2

1. x-intercept: 3, y-intercept: 2




3. x-intercept: -6, y-intercept: 9

5. x-intercept: -2, y-intercept: -4

7. y=—x
13. y=2x+6
17.

(0. 3}

8 1

9. y=—"x——
YT
15. y=4x+4

19.

(-3, 1)

11.

Slope: -2, y=-2x—-4

{0, 0}




21.

23. Slope: -1, x-intercept: 4, y-intercept: 4

25. Slope: %, x-intercept: 0, y-intercept: 0

0, 0

(LR}




27. Slope: —%, x-intercept: -3, y-intercept: -5

29. Slope: %, x-intercept: %, y-intercept: -3

h.m

) . 7
31. Slope: 0, x-intercept: none, y-intercept: 3

3 m
(-1,7/3) (1.7/3)
] & & -
240,713
1 =
T T ﬂ T
-2 -1 0 1




33. Slope: —% , x-intercept: 3, y-intercept: 2

35. Slope: %, x-intercept: %, y-intercept: -1

37. ——
43.5
49. y=x+3
3 5
55. y=—x——
Y 4 2
Exercise Set 7.3

1. parallel
7. parallel

39.

DN

45. -~

1
51 y=——x+3
4 2

3. perpendicular

9. y=3x+7
3 13
15. y=—=x+—
4 5 5
4
21. y=——x+8
4 5

41.6
47. E
5
2 14
53, y=—x——
Y 3 3
5. neither
11. x=-2
17. x=-4
23. x=-3



27.

29.

_‘__'_,—F'-
» -_'_,—I-'-
o, <3h L
i
e
[
S "
o
. i
'\.\.\. -\--\-\-\-\--\'-_\_\_\-\- 2
“'\. X -
| ]
"-\._\__\-
b " x“‘-h.\__
N‘-\. -\--\"'\-\._
' : ;..1 n
L /,/
5 1~
L ] L] h, L] 1 1

Slopes: 0 and %, parallelogram

b

AR N
SRS

Slopes: , % , and 3, not a parallelogram

2 5 3
Slopes: —, ——, and ——, right triangle
P 3712 2 8 8



33.

35.

Slopes: 1 and -1, rectangle

Slopes: -1, —?, and —g , hot collinear

N

16, -7}
.I i



Exercise Set 8.1
l.x=2o0rx=3

5. x=2o0orx=-7

9. D>0, x:—1+\/g orx:—l—\/g

13.
17.

21.

D <0, no real solutions
x=2orx=-3

25. x

29.

x=5+x/5 orx:S—\/E

x=lorx=2

33.
37.

41.

x=—-lorx=

Exercise Set 8.2

L (x+1)" -1

7.3(x-2) -12

13. —(x—2)" +4

x:—3+\/§ orx:—3—\/§
Jia Jia

X=-2+——orx=-2———
2 2

19.

23.

27. no real solutions

31. no real solutions

D>0, x=-3+2J2 orx=-3-22

3.x=-3orx=-4
7. le orx=-3
2

11. D <0, no real solutions

15. D=0, x=-1
19.

23. x=—4orx=-7

x=2\/§ 0rx=—2\/§

27.

31.
35.
39. x=

43

_2
4

2
3. (x+§j
2

9. 4(x+3)" =36 B

8

15. x=0o0rx=-2 17. x==-1lorx=3

21. x:—l orx:i
2 2
25. x:—2+\/§ orx:—2—\/§

29. le
2



Exercise Set 8.3

1. (a) vertex: (-2,—9), min. value: -9

(b) x-intercepts: -5,1 y-intercept: -5

(c) ||II - I (.
i }III i 1 i F
II|

IIII i
III j

|II : H‘,:\ ]
|IIII I||I
|IIII IIII|"
I'-ll' Il.'I i

II"-_ /'III

\/ :

5. (a) vertex: (—1,4), min. value: 4

(b) no x-intercepts, y-intercept: 6

(C) | {

I|I ' I|I
|II : I.'I
\ ]

||I . ||::| a

\ /

'.\ : ,u':
o
:Tl: '

3. (a) vertex: (—2,1), max. value: 1

(b) x-intercepts; -3,-1 y-intercept: -3
©)

7. (a) vertex: (—1,5), max. value: 5

(b) x-intercepts: —1+ @ , y-intercept: 3

(C) -1,5) 54




9. (a) vertex: —2,1—5 , max. value: 15
2 8 8

(b) x-intercepts: —% + ﬁ , y-intercept: 3

(©

24

{(°3)

T ﬂ)
o

11. (a) vertex: (—1,—8), min. value: -8

(b) x-intercepts: —1=+ V2, y-intercept: -4

i

13.(a) y=(x+2) -4

(b) vertex: (—2,—4), min. value: -4
(c) x-intercepts: -4 and 0, y-intercept: 0

(d) I
! \.:.-1, o

1}
5 -3 E

Iu- u:l

i

© N ( I' ,I
(~1-van} | 14 w0
ey 1 Tl 1 ’ - :'+_- —
|I |I
[ i |I
. | Bl
3 | |
|I |
| iia
| iy
|
|II J
|I I|I
||I IIl
Vo
|II i
bR

15. (a) y=—(x=5)"+25

(b) vertex: (5,25), max. value: 25
(c) x-intercepts: 0 and 10, y-intercept: 0

(d)

il (5, 25}
0
i5
104
l
'|
P anu. )
0 5 :Vj.



17. (a) y=3(x—1)" -4

(b) vertex: (1,—4), min. value: -4

(c) x-intercepts: 1+ % , y-intercept: -2

(d) \

(1 4

21.(a) y=—(x—2) ~1

(b) vertex: (2,-1), max. value: -1

(c) no x-intercepts, y-intercept: -5

(d)

19. (a) y=—(x-2)"+3
(b) vertex: (2,3), max. value: 3

(c) x-intercepts: 2+ NE) , y-intercept: -1

@
|.(3 v l;:':' / (2 t v’:‘..ll}
1 7o H 3 b4 3
AR
ﬁ \

23.(a) y=(x+1)" -3
(b) vertex: (—1,-3), min. value: -3

(c) x-intercepts: —1+ V3, y-intercept: -2
(d) \ !




Exercise Set 8.4

1.5and 7 3.8and 13

7.8, 24, and 810 9.19
13. 56 inches 15. $1,680

5.7 and 21
11. 18 feet



Exercise Set 9.1
1. 3.

™

1

No solution.

Solution: (2,2) Solution: (4,1)



11.

Solution: (1, 2)

Exercise Set 9.2

31. (3,-1)

37. No solution

39. Infinitely many solutions

3

Infinitely many solutions



Solution: (1,2)

43.

Solution: (4,7)



Exercise Set 10.1
1.13,8,5,4,5

7.0,1,v2,2, 6,3

Exercise Set 10.2
1. x=2

7. x=-lorx=6

13. x=

| W

19. x=-2

3.34,1,0,1, 4

9.3v2,2,0,0,2, 24/7

15. )cz—g
3

21. x=-lorx=5

5. _27 _37 17 _17 _E
3 35
-8 44 8
15 3 3 15

17. (—,=5)U(-5,3)U(3,)
23. (—,3)U(3,»)
29. f(x)=+-2-x

1

35. f(x)= N

5.x=5

11. x=—Z
2

17. x=1orx=28



